
 
 
 
 
 
 
 
 
 

 

There is and There are Interactive Worksheet 
Answers 

Fill in this worksheet at the same time as watching the video on there is and there                                 
are in English. Use the answer guide to check your answers.  

 
 
EXERCISE A 
Which sentence is true? Select the correct answer. 
 

a) The expressions “there is” and “there are” mean “to happen” 
b) The expressions “there is” and “there are” mean “to exist” 
c) The expressions “there is” and “there are” mean “to feel” 

 
 
EXERCISE B 
Match the expression to the correct box. There is only one correct answer. 
 

 
 
EXERCISE C 
What is the contracted form of the expression “there is”? 
 

there’s 
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EXERCISE D 
Match the expression to the correct box. There is only one correct answer. 
 

 
 
 
EXERCISE E 
Is the following sentence TRUE or FALSE? Select the correct answer.  
 

 
There is not a contraction for the expression “there are” 

 
TRUE FALSE 

 
 

EXERCISE F 
Complete the table below with the negative form. 
 

  Singular  Plural 

Full form  There is not  There are not 

Contracted form  There isn’t  There aren’t 
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